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= 0l & Al
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Al
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x
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A434,000

401

AEBI L2

= H
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1,000,000
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401

E=1=lR="E U Ju]

Pl ()]
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1,000,000
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,000,000
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fA: M3
B AT Q MBS SH(SIUBE/AS)
el NEHEHSAE &= (ctel: &
SNBSS - HRAY - BHES 0l &k o4 e HlnE2
401 A &HIL 2048 1,000,000 50,000 950,000
Il 1,000,000
01 Al&H| 993,700 50,000 943,700
OMAILHSHE HE 993,700,000& 993,700
Il 993,700
03 AIE=20bl 6,300 0 6,300
OMAIDHSHE HE
1,000, 000,000& *0.63% 6,300
| 6,300
MNES2ST EHLEY 400,000 0 400,000
= 200,000
Al 200,000
401 A EHIL 204 400,000 0 400,000
= 200,000
Al 200,000
01 Al&t| 397,120 0 397,120
OMNAEE 2 EAHZH 397,120,000& 397,120
& 198,560
Al 198,560
03 Al S0 2,880 0 2,880
ONHE 25X EALY
400,000,000& *0.72% 2,880
= 1,440
Al 1,440
SA(I22E) WSAE FH 100,000 0 100,000
& 100,000
401 A &HIL 2048 100,000 0 100,000
& 100,000
01 Al&t| 99,100 0 99,100
O+2%d(22F) MSAE HHl 99,100,000 99,100
& 99,100
03 AIE=20Hl 900 0 900
O=2LT(22E) MsSALE FHil
100,000, 000& *0.90% 900
L= 900
MESE2SE dAF=IE EX 900,000 0 900,000
401 A &HIL 2048 900,000 0 900,000
01 Al&H| 894,330 0 894,330
ONEZSE2SE AN=XE &X
894,330,000& 894,330
03 Al 20| 5,670 0 5,670
ONEZSE2SE SAN=XE &X
900,000, 000& *0.63% 5,670
Hsdsg g2 A 60,432 68,277 AT ,845




S RS E= PR,
FH: M2 L MENS SH(2SL2Z/HS)
&2l NEMENSALE &5 (et =3
SA - HB SR (B) - HIRAY - By S 0fl b e HR=2
201 LEH2HH| 19,360 22,975 A3,615
01 AtE22/Hl 19,000 19,000 0
oget=8gH| 16,000, 000& 16,000
O=&Hl 3,000, 000& 3,000
02 =234l 360 3,975 A3,615
O332=aZLHAl 360, 000& 360
202 O4Hl 38,072 42,302 24,230
01 =UodH| 38,072 42,302 4,230
OZA=H NI 38,072,000& 38,072
203 HRF4Hl 3,000 3,000 0
03 AM=XHL=LH| 3,000 3,000 0
OX=1E HMSA X RF&
2,000,000& 2,000
OXM=ANE =24 HRF& 1,000,000& 1,000
HEH=sSE =4 385,000 300,000 85,000
401 Al&HI LR OHYI 385,000 300,000 85,000
01 Al&HI 383,560 299, 100 84,460
OMENSAE &X 99,100, 000& 99,100
OUUXIMA MEAIEE &X 35,000,000& 35,000
EF3E 23017 & 49,460,000 49,460
OMEMSAE RXNES 200,000,000& 200,000
03 Al =R04Hl 1,440 900 540
OHMENSAlE &X 100,000,000 *0.90% 900
O85F3% 23JI+ &X 50,000,000 *1.08% 540
AL 22 & AWSH 3,222,786 3,710,124 N487,338
Il 159,148
= 263,254
Al 2,800,384
ZOHE 2det & 25,000 25,000 0
= 5,000
Al 20,000
301 YptsBazg 4,000 4,000 0
10 EAIAHIEA S 4,000 4,000 0
OFZe! XM=tz S8 HHI24
4,000,000& 4,000
307 2120l & 21,000 21,000 0
< 5,000
Al 16,000
02 2ItBAE X 6,000 6,000 0
OZ4g =0t M=tz &8 JHXA
3,000, 000& 3,000




o 1
= 0x
D
% o
b=
i
08
®
0

Ho
0x

22
J2

20
B
2

Ho! M=tal 28 FHIXA

3,000,000&

15,000,000&

= H

3,000
15,000

15,000

5,000
10,000

15,000

p)
Al

150,000

75,000
75,000

175,000

A25,000

307 2120l &

Il
Al

150,000

75,000
75,000

175,000

/25,000

150,000,000

Il
Al

150,000

150,000

75,000
75,000

175,000

A 25,000

=

7,000

6,000
1,000

7,000

307 2120l &

= M

7,000

6,000
1,000

7,000

03 AtSIEHI

2,000,000&

5,000, 000&

= H

H

7,000
2,000
1,000
1,000
5,000
5,000

7,000

Il
Al

41,856

20,928
20,928

20,928

20,928

307 2120l &

Il
Al

41,856

20,928
20,928

20,928

20,928

03 A2IEHELXS

MK BHXI(2H)
41,856,000

Il
Al

41,856

41,856

20,928
20,928

20,928

20,928

MEHs 2208 I

=z H

21,600

10,800
10,800

19,440

2,160

307 QI12+0l &

= H

21,600

10,800
10,800

19,440

2,160

02 2i2td 4t

21,600

21,600




SA: SN
Hu: M2 U MEIS S4(2HLBB/AR)
ool MISAS el ¥ UHSA (et & 2
_ _ _ Muo
SA - HH . CA(BH) - HREAY - BY2 Of) & o il b o HmE2
OMEBRZZ Y 2A(GHIL=S)
21,600,000 21,600
= 10,800
Al 10,800
HMUR MEHSNCK X 104,640 83,712 20,928
I 52,320
Al 52,320
307 212H0| 104,640 83,712 20,928
I 52,320
Al 52,320
03 ABISHHIE X2 104,640 83,712 20,928
OMEZHSXCR BIXI(58)  104,640,0009 104,640
p 52,320
Al 52,320
TES I 20, 160 20, 160 0
= 8,064
Al 12,006
307 212+0| 20, 160 20, 160 0
= 8,064
Al 12,006
03 ABISHHIE X2 20, 160 20, 160 0
oMEISDY 2% 20,160,000 20, 160
= 8,064
Al 12,006
DleoHs MsALRE 200,000 50,000 150,000
= 100,000
Al 100,000
401 ANAHIL S 200,000 50,000 150,000
= 100,000
Al 100,000
01 Al&H| 200,000 50,000 150,000
oYUM UETCIPE XY &3
200,000, 0002 200,000
= 100,000
Al 100,000
HIAEAE N2 150,000 300,000 A 150,000
= 70,000
Al 80,000
401 AEHIL 2] 150,000 300,000 A 150,000
= 70,000
Al 80,000
01 Al 150,000 300,000 A 150,000
OMBHST HBT &3 150,000,0002 150,000
= 70,000
Al 80,000
HMSH2H A 21,800 14,432 7,368




SM: MSXHD
M M2 U MEIS SH(SULZ/HS)
el HISAIS B2l Y ITHRA (=CR-E
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl & o il b o HRs2
5] 10,900
S 5,450
Al 5,450
301 YsrEAS 21,800 14,432 7,368
| 10,900
= 5,450
Al 5,450
01 APSIEE X253 21,800 14,432 7,368
OIS 7 At 21,800,0002 21,800
g 10,900
= 5,450
Al 5,450
N2RF2SHIIL X2 350,000 360,000 A10,000
301 YBrEAS 350,000 350,000 0
11 olzoe - 2es2sEA3 350,000 350,000 0
OMBENE s72E 29 350,000,000 350,000
HIRAE 2Y X 115,880 0 15,880
= 57,940
Al 57,940
307 2120/ & 115,880 0 15,880
= 57,940
Al 57,940
02 DIRIAMBE 115,880 0 15,880
ON91E HRXSHE 226 115,880,0008 115,880
= 57,940
Al 57,940
MEAE 2l 738,650 950,062 A211,412
101 Q1248 36,661 40,162 A3,501
04 JAMZRISES 36,661 40,162 A3,501
OSUIHSAE BT ALY
50,0008 %22 20 2,000
ONBBESSH mO22 Y HY|
33,0008 %22 602 3,960
ONHEZLSSH FHFY|
33,0002 %124 +602 1,980
OLUAUHMSIA H| 33,0002 * 12 %60 1,980
ORYSIAELHE HSAIL H|
33,0008 %22 252 1,650
OMESI+ELHE HSAIL H|
33,0008 %224 252 1,650
oHolESE HH| 33,0002 %43 *502 6,600
oxsza 22l(1%) 10,974
ooy 33,000 * 124 %2332 7,689
S ! 33,0002 * 1% +482 1,584
ool Rt ag 33,0002 * 12 +152 495
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A H

=
tl;

Hy: M2 9 M
=

ME Y MEXE S4(2IAL2Z/HSK)
Co: MSAL B2l Y oS CERE
SMN-HHM .. AHA(SH) - MRAY - BES O AF K dd = Hlw &2
oxbldza s HEER 9,273,000& *13% 1,206
OAMFHSS 221(1Y, 7.1 &) 5,867
ooy 33,0003 x1H » 125 4,125
oFXrg 33,0003 x1H 27 891
ocHXtY 33,0003 1H 6 198
oxPldZ3Z S AHEER 5,016,000 *13% 653
201 LBty 121,589 118,000 3,589
01 AtR2t2ldl 15,084 10,000 5,084
Ogt=ZH| 5,400,000 5,400
(OFIPNI= 9,684,000 9,684
02 2223H| 106,505 108,000 A 1,495
O=ERSLAHA 73,505,000& 73,505
O« Z 4| 3,000,000& 3,000
OA&EHI =Xl 30,000,000 30,000
206 =4l 13,400 38,900 A 25,500
01 M=H| 13,400 38,900 A25,500
OO0IALE 7 ¢ 3,000,000& 3,000
oxMsz & 2sd =8N 2
5,000,000 5,000
OSSEEM Y F# ZA+ el HE7
4,800,000& 4,800
ossA HHI 2 7Y 600,000& 600
307 2I2t0l ™ 120,000 0 120,000
05 QIZtfEZ 120,000 0 120,000
OMAEISE2SE AIHZE &CO A=
120,000,000& 120,000
401 AlEHIZ2OHb| 440,000 736,000 A 296,000
01 Al&H| 440,000 736,000 A 296,000
OsUM=sAA &l 50,000,000& 50,000
OZLAANOEZSE A &KX 10,000, 000& 10,000
23|+ &X 50,000,000& 50,000
OAE - NEEYSKBY =72 - ZAX HSD
A 50,000,000& 50,000
oOgYll XN S AZ dA &X
20,000,000 20,000
OAMAEMSH cIZEYA =¥ &
160,000,000& 160,000
OMSAMEE = AM&ES WA 20,000,000& 20,000
ONALZLERSE E7% £ =718 AMES
X 30,000, 000& 30,000
OMESEHEEZ HOIESEFE 200|2E 4
=Nl 50,000,000 50,000
405 XH&HFESHI 7,000 17,000 A 10,000




A H

=
tl;

Hy: M2 9 M
=

ME Y MEXE S4(2IAL2Z/HSK)
©Hel MsAE 22 2 NSy (A :H2)
N B .S (3 H) - MIBEAY - BHA2 A} OH &EIE Hn=2
o=\ T ° - = oS = =5 0:”/&,% Lsa
01 A& E2BHSHI 7,000 17,000 A 10,000
OM=EZ HIE P (ME - 4HIZ - ALF)
7,000,000 7,000
=2 dM=ia X2 331,200 497,200 A 166,000
201 LBt H| 4,000 4,000 0
03 eArZEHI 4,000 4,000 0
OX2UI(Z)EHAI 29 4,000,000& 4,000
206 M= Hl 5,000 10,000 25,000
01 =z 4l 5,000 10,000 A5,000
oL Z20i2tENz M+ 5,000,000& 5,000
301 LEtEAZ 3,200 3,200 0
10 HALAHIZEA S 3,200 3,200 0
OX= (T )2 MSHA ZIHA AHIE A
3,200,000 3,200
307 gI2told 319,000 480,000 A 161,000
02 QIZtBAE X 10,000 10,000 0
OX=(Z)UHal 2 ¢ Uz =294 N
10,000,000& 10,000
04 CIZFHAE X 309,000 470,000 A 161,000
OHM3Ba =H d3d -0 =1L REA
WA OH = 140,000, 000& 140,000
OM28s] M=HHELEH IIZ=H 3
30,000, 000& 30,000
ORM53 AtE ==S0tetE 3l HE
60,000,000 60,000
OM9I1s MIMHE =&E BH X2
5,000,000& 5,000
OHM2& AFEAIED] d=SattHs K&
8,000,000 8,000
OM7a] AtEAIZH &= HHAZ2I0IZHE OH
e 6,000,000& 6,000
OHN 24zl AFEAIEDI H2HHCHSAICHS! JHA
10,000,000& 10,000
©20108 AtEAIEEH 2 =& HXs2U2
pJ ES| 50,000,000& 50,000
|92l M=s0s XA 582,000 552,000 30,000
307 QI2tol™ 562,000 532,000 30,000
02 CIZtBAE X 217,000 207,000 10,000
ORM493 ERIXNNE =86 S&H|
45,000,000 45,000
OHM498 TN &8 FHH L A2F 7
9,000,000 9,000
OHN493 TUMAE =HBHI 140,000,000& 140,000
OM493] SOIXE AKX Al&=2 8,000,000 8,000
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SN HMSKE
I M2 U MBS S (2JL2Z/HS)
Cel: MSAA 22 L AsH (el ®e)
- _ _ ME
SN HABIH) - NRAY - BES Off 4k 04 Ofl At ot HluSZ
OXMXERHME SXFH X 10,000,0002! 10,000
O2010H & AFRAl XSOl ZATHE WA ZH
] 5,000,0002! 5,000
04 DIZLSHALE X 345,000 325,000 20,000
OAFII MEUS HEI(1BHES)
25,000,000 25,000
OANBEI(ZLIHAE EMMH4 Ag) NSstn
& MW M 20,000,000 20,000
ORI133] AIGIMSHE X2 300,000,000 300,000
401 A& HI LS 20,000 20,000 0
01 Al&Hl 20,000 20,000 0
©2010 (81012 SHMQEUA E22A &I
20,000,000 20,000
SNNS sS4 121,000 423,190 302,190
308 XIXISHHISOIN 121,000 423,190 302,190
06 DEIZUHEEZES 121,000 423,190 302,190
OnsAI WK MU XA 4,000,000 4,000
o0Zdg = -0 MKW =& JY X
9,000,0002! 9,000
OMFDEHI = 580 SEHSU3 X
8,000,0002! 8,000
ONHS SHES L £-5-10 5728 5
S 100,000, 00024 100,000
MBS X 190,000 197,000 A7,000
307 QI2H0|™ 190,000 197,000 A7,000
02 BIZtHAEE 180,000 187,000 A7,000
0 ol24 MEBH S EdFH X
10,000,0002! 10,000
OZESY MEBHKWS HH XA
80,000,000 80,000
OZHHel MEBHKWS EMHH X
8,000,0002! 8,000
02010 =L HEALX HT 29
10,000,0002! 10,000
ORI213 & MEHSUH3 =AY X
70,000,0002! 70,000
OMEHSE 52¢ FHIPYH XA
2,000,0002! 2,000
04 DIZHSHALE X 10,000 10,000 0
OARIZHA2I|TH3] 10,000,0002! 10,000
- o HSE2S 84 52,000 15,000 37,000
307 QIZ2Ho|™ 52,000 15,000 37,000
02 RIHAEE 37,000 0 37,000




SA R
X XH .
S Tt

el X

N " (3) - HE Lo Soe RS2
OABAELEHMH =FFE 2
37,000, 000& 37,000
03 MBIEHMEX= 15,000 15,000 0
OMEANM=2 2EH X& 10,000,000& 10,000
OAMEA SttAgzl AZEL HIEXN X2
5,000,000& 5,000
A=Y 22 2E 392,307 713,045 A320,738
W=y 22 29 342,307 416,045 AT3,738
101 Q1A H] 41,807 25,545 16,262
04 JIZAHZ2HESE= 41,807 25,545 16,262
O=ZHAIE 22l 36,692
oQI2Y 42,6203 x2H %2332 19,861
oFXt=g 42,6203 x2H x482 4,092
o=Z0Hg S 4UHEEE 23,953,000 *13% 3,114
cA22RdE 8,000 x2H 24| 2H+48L 1,536
oA=& 42,6203 «2F x 15 1,279
oxddRsdE 63,9303 x2H 482 6,138
A==l 7,000& «2H «48 672
OYSAHDA OHFB2| 012
6203 x4 H *x30Al 2+ 5,115
201 B2 274,000 359,000 285,000
01 AtS2t2itl 30,400 31,000 A600
O Bt==H| 8,000,000& 8,000
O=gl 20,000, 000& 20,000
oxxtz 2,400,000 2,400
02 83224l 243,600 328,000 A84,400
OZZ22=2AAl 70,000,000& 70,000
(©Ftil=a.] 120,000,000 120,000
(OZNF=F3:IEIN]=] 35,000,000 35,000
OXtet o et 18,600, 000& 18,600
206 M=l 26,500 31,500 /5,000
01 M=Hl 26,500 31,500 A5,000
OadUl=3F %4E57Y 25,000,000& 25,000
OALLYT HES U o
1,500,000& 1,500
AU=EE AME SZHd 50,000 297,000 A247,000
401 AIEHIZ R0 50,000 297,000 A247,000
01 A&l 50,000 295,488 A245,488
O=3% 24 uH 30,000,000 30,000
O=Z&UH &I € &84 20,000,000& 20,000
HE2AHUI(MSX2 ) (IIEHDIE) 259,677 256,346 3,331
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S RS E= PR,
DS

M HHISZHI(MSXAD)(JIEHIIEH
chel: ol ECR-ED
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
o3 2| 191,277 187,946 3,331
ol 2| 191,277 187,946 3,331
101 14| 187,077 183,746 3,331
03 RIAHAZZNHE = 187,077 183,746 3,331
OXNEX T XH(4Y) 101,470
SPIR=t= 48,4003 »4H 255 49,368
SE =] 49,368,000 *4/12 16,456
oI HIHAZ 37,026,000 *10% 3,708
cR=FdrE 48,4003 x4 x5 10,068
oAXtY 48,4003 x4 x20 3,872
o5d2RrH 7,2603x2Hx61L 886
oAZAZRFY 9,080 *4F x20Al 2tx 123 8,717
o g &l 7,000x4% 252« 12 8,400
O=g&xHe|A(BY) 78,738
=JlZ23g 33,0003 x5 x255 42,075
SRS 42,075,000& *4/12 14,025
odHItF 16,830,000 *10% 1,683
ocRaxdrY 33,0003 x5F 52 8,580
oA xg 33,0002 x5 H 152 2,475
S AZtR22E 6,000& x5 *10AI2+<128 3,600
ogght| 7,000 x5H 152 12 6,300
OAFHsS2 221(1Y, 7.1X8H) 6,869
=JlE=z 33,0002 *»1H 130 4,290
o3 4,290,000&+2/6 1,430
ocREsdrY 33,0003 x1H 25 825
oA+ 33,0003 1H 6 198
o gght| 7,000% x1H»32 6 126
203 HRF&HI 4,200 4,200 0
04 BEASIHFFEH 4,200 4,200 0
ORNMZE gRF&I 350,000& = 12& 4,200
Jl2&dl 68,400 68,400 0
Jl2Zl 68,400 68,400 0
201 Y2 6,000 6,000 0
01 AFR22lH| 6,000 6,000 0
(ORI S = u] 4,000,000& 4,000
o= &l 2,000,000& 2,000
202 O4H| 62,400 62,400 0
01 2o 62,400 62,400 0
OZUHE=H I 62,400,000& 62,400
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